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FEHRAFT Eidrs2 NG EHAAFRT Eidrs2 NG FEHAAFT Eidars NG
SHRE |fRREZ| $HRE |RREZ| SHRE |RRREZ| SKE |RREE] SKE |ORREE| ZAE | EREEE
E A — — 678M/H | 638M/8 — —  |1,356M/B|1,276M/8 —  |2,034//B|1,914M/8
2 X & 2 — — 838M/H | 783M/8 — —  |1,676M/B|1,565M/8 — —  |2,514M/HB|2,348M/8
i EE 1 900//H| 819M/H - —  |1.800m/8 | 16377/8 - — | 2699m/8|2,456//8 — -
N #EE 2 976f/H| 892F/H - —  |1952m/8 | 1,783m/8 - —  |2927m/8|2,675M/8 — -
i #EE 3 1,040M/8| 956M/8 - —  |2079m/8|1,911//8 - —  |3.118m/8|2,866M/H — -
N EE 4 1,097F/H |1,013M/8 - —  |2.194m/8|2,026//8 - — |3.291/m/8|3,038M/8 — —
i #E 5 1,155M/H | 1,070M/8 - —  |2.309M/8|2,139//8 - —  |3.463m/8|3,208//8 — —
HEEEL (BRVAMA 3B 4BERS) 674M/8 — — 1,348M/H — — 2,022M/8 — —
HEEEL (BRVAM 4B 6 BRRS) 933M/H — — 1,8653/H — — 2,798M/H — —
HEEEL (BRYAM 6B 8RR 1,295M/H — — 2,590M/H — — 3,885M/H — —
E |pemanEmng 25M/8 50F3/H 74M/8
ERIYAEY F— a3 v ERNE 247M/A 493M/R 740/M/A
1 |RBEHARRAME 93M/H — 185M/H — 278M/8 -
BEEEETENE1 124//8 — 247M/8 — 370M/8 —
EEEEEEME?2 (ARYFA 62M/H — 124//8 — 185M/H —
m e 189M/H & 378M/FiE 567/ FiE
BERME 9F/E 1773/ 25M /[
B namangEl 532M/8 1,064F3/H 1,596F3/8
B — ERREMAHIMNE | A 19M/8 37M/H 56M/H
i NEHELBERENE (1) FRTE B X 3.9% FIE B X 3.9% FRE AL X 3.9%
NEHEEHELBLEME (1) R B X 2.1% FRE B X 2.1% FRE B X 2.1%
BiEE (FEH) 580F‘3/E|‘1,850P§/E|‘ 580F‘3/E|‘1,850P:J/E| 580F‘3/E|‘1,850P:J/E|‘ 580F‘3/E|‘1,850P:J/E| 580F‘1/E|‘1,850F§/EI‘ 580F‘H/E|‘1,850F:J/EI
v B% 1H%71Y 1,650M/8 1,650M/8 1,650/ H
B OA 330M/& 330M/& 330M/&
Iz B = 660M/ & 660M/ & 660M1/ &
5 B 660M/ & 660M/ & 660M/ &
= BPOR 110/4//E 110///E 110M/m@
HESE 150M/H 150M/H 150M/8
Ele e 150M/H 150M/H 150M/8
' Esallka=t S ®m = —  [3:300m/8 —  [3:300Mm/8 —  [3:300Mm/R —  [3:300Mm/R —  [3:300m/8 —  [3:300m/8
2ANE 2200m/8| — |2200m/8B| — |2200m/B| — |2200m/B| — |2200m/B| — |2200m/B| —
= [BRA 110M/8 110M/8 110M/8
BE - BEBICOZTELTCE. TRHFEREFTOH L. BEEROFENTITVES,
NEEARERE TT7Ey2—EE




